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. FRAE 4 39(20%).

(a) PC, (b) CPU, (c) Recursive, (d) Bit,
(e) Byte, (f) Giga Byte, (g) Two's complement, (h) ASCII
(1) Hexadecimal System, (j) Floating point number

- (a) SRR T A St K E AA5%)

(b) SATF AT OUTH BN IMARE T, fTH BN E E TU5%)
Keyboard, Monitor, Scanner, Mouse, Camera, Microphone, Printer

R s TR R R s PR AT BT AR+ N A 3FE(15%)

(a) 00111001, (b) 11101110, (c) 11111111, (d) 96, (¢) 249.

C SFEBF &S E A 2(15%)

(a) 78 and 63, (b) 50 or 75, (c) 66 xor 27.

- P AERE T P ey AR ] 4% A Z 4810 B 4% ] 4 4-2(10%)

 BERELUT S48 F A AE2(10%)

(a) char, (b) int, (c) unsigned short, (d) float, (e) double.

- TR AEAE 2F 74 (Call by value)(5%) 247 28 1% 4t of o) (Call by address)?(5%)

-SRI F1A2 X 4% 69 HUTE R2(10%)

#include <stdio.h>

int func(intn ) {
if (n <=1 )return 1;
else return n*func(n-1);
} // end function func

void main(void) {
int result;
result = func( 5 );
printf("result=%d\n", result);
} // end main




